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DO YOU REMEMBER?

If you have read the Wall Street Journal from March 27th -31st you  should be able to answer the following questions based upon important articles relating to economics. The reference at the end of the answer tells you the date and page number where you can find the article upon which the question is based. 
1. Have real average wages in the United States (a) declined, (b) remained the same, or (c) declined since 2000? Click for answer.
2. Does the U.S. government limit the number of foreign professionals who can work in the United States? (Yes or no) Click for answer.
3. In what industry might the EU may raise a trade dispute regarding tariffs imposed by China? Click for answer.
4. Which of the following countries has the highest carbon dioxide emissions measured in metric tons: (a) United States, (b), China, or (c) Russia?   Click for answer.
5. How can country domain names be a source of wealth for those countries?  Click for answer.
6. How is Japan’s economy benefiting the rest of the world’s economies? Click for answer.
7. What action, if any, did the FOMC take last week at Fed Chairman’s Ben Bernanke’s first FOMC meeting as its chair? Click for answer.
8. The labor force participation rate is 66.1 percent. Does the Fed believe that this suggests weakness in the labor market? Click for answer.
ANSWERS TO “DO YOU REMEMBER?” QUESTIONS
1. (c) They declined 0.3%. (See “Wages Fail to Keep Pace With Productivity
Increases, Aggravating Income Inequality” March 27 page A2.)
2. Yes. The number of visas for professionals granted per year is 65,000. (See “Other Immigrants” March 27, page A13)
3. The auto industry.  (See “EU May Start WTO Case On China's Auto Tariff” March 28, page A2)

4. (a) The United States. (See “Big Businesses Have New Take on Warming” March 28, page A4) 
5. Some countries such as Tuvalu (with country domain extension dot-tv) have extensions with meanings or associations that are marketable to companies. (See “On a Tiny Island, Catchy Web Name Sparks a Battle” March 29, page A1)
6. Japan’s economy is growing and its imports are over 10% of GDP. So, its growth means demand for goods in the rest of the world, which boosts their economies as well. (See “Finally, a Healthy Japan Offers Lift for U.S., Asian Economies” March 29, page A1)
7. It raised the Fed Funds rate ¼ percentage point. (See “Fed Raises Rates By ¼ Point, Hints More May Come” March 29, Page A1)
8. No. (See “Fed Analysts Say Low Jobless Rate Doesn't Mask Labor Market Woes” March 31, Page A2)
Return to Questions 
Big Businesses Have New Take on Warming

Some Companies Move From Opposition
To Offering Proposals on Limiting Emissions

By JOHN J. FIALKA
March 28, 2006; Page A4
WASHINGTON -- The global warming debate on Capitol Hill is focused on whether the federal government should impose stricter emissions rules. But a key Senate panel is shifting the discussion from "whether" to "how."

The Senate Energy Committee is hearing from industry and activists about how a mandatory plan to control carbon dioxide and other so-called greenhouse gases could work. Many big businesses that resisted efforts to fight global warming are sending blueprints and companies like Southern Co. -- an Atlanta utility opposed to new controls -- have filed detailed proposals.

"We feel strongly that if there is going to be a mandatory program, it really has to be economy-wide," said Chris Hobson, a senior vice president at Southern. "To do it any other way would be unduly burdensome to our customers."

"What's interesting here is the diversity of companies and their willingness to respond in some detail," said Jonathan Pershing, a climate-change expert for the World Resources Institute, a nonprofit environmental think tank. Concern about the damage caused by climate change and industry's thirst for regulatory certainty, he predicts, could lead to passage of some form of mandatory carbon-dioxide controls within five years.

The energy committee has received 160 plans from companies and organizations, and members will hold a "roundtable" next Tuesday to sift through them. It will be Congress's first review of possible regulatory mechanisms of a system of mandatory controls.

1. Assuming global warming is the result of carbon-dioxide emissions, demonstrate how goods whose production results in carbon-dioxide emission are priced too low and at a too-large quantity to be efficient.
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President Bush has opposed anything other than a voluntary approach. Congress has debated and rejected climate-change regulation, but last fall the Senate opened the door a crack, with advocates mustering 53 votes for a resolution backing mandatory controls if they "will not significantly harm the United States economy."

The corporate proposals are part of an attempt to explore what is feasible along those lines. "There will be more good things put down by smart people on this effort than there have been at the beginnings of most processes like this," said Sen. Pete V. Domenici, (R., N.M.) chairman of the Senate panel.
2. Why will a voluntary approach likely fail?
 
One of the most ambitious plans comes from Arkansas retailer Wal-Mart Stores Inc., which last fall announced goals to make its stores greener. Andrew Ruben, Wal-Mart's vice president for corporate strategy, said the company wants the federal program to cover electricity generators, large industrial companies and the entire transportation sector. He said Wal-Mart won't wait for Congress to act and is planning a program to cut its emissions.

The company, which operates one of the nation's largest truck fleets, has set goals to make it 25% more efficient within two years and to double its fuel efficiency within 10 years.

Some of the most detailed plans are coming from utilities and other companies that would bear the economic brunt of new rules, including some who have lobbied against more regulations.

3. What incentive does Wal-Mart have to make its stores greener while at the same time lobby government to enact legislation to regulate industry? 
A number of major companies, including Southern and DuPont Co., favor what they call a "downstream" approach, which has an effect midway between fuel producers and the ultimate energy consumer. It would impose a cap-and-trade program for utilities and big manufacturers. The government would assign companies a "cap" -- a number of permits or credits to emit carbon dioxide -- which they could trade. Operators who emit less than their quota would have leftover credits to sell to those who need them to keep from exceeding their cap.

4. Describe the cap-and-trade approach. How is this an efficient approach?
These companies also suggest that Congress add an "upstream" approach to cover the millions of cars and trucks in the transportation sector, which would be difficult to control driver-by-driver. So here the controls would shift up the chain of production, to oil refiners in the form of a higher fuel tax, or to auto makers, in the form of more stringent efficiency standards for new cars. The upstream approach would let market forces change consumer behavior.

5. Using the graph from your answer to question #1, demonstrate a tax that would change behavior in an efficient way.
"The U.S. could show a lot of leadership here because nobody else has figured out how to do this," said Richard Rosenzweig, chief operating officer of Natsource LLC, an emissions-trading firm in New York. He noted that ways to curb emissions in the transportation sector, which generates about 30% of the nation's carbon-dioxide emissions, will be needed in any program to lower U.S. emissions.

Duke Energy Corp., a Charlotte, N.C., electricity producer, is among companies suggesting that Congress apply the upstream approach to all economic sectors in the form of a tax on the carbon content of fuel. The approach would provide "price certainty, gradual timing and administrative simplicity," Duke's plan says. Under some forms of carbon tax, the government would use a portion of the income for research and development of cleaner energy sources and more efficient ways to use energy.

The American Iron and Steel Institute argues in its filing that neither the upstream nor downstream approach will work unless heavy energy users, such as steelmakers, get some form of relief from higher energy prices. Otherwise, they say, companies may shift production overseas. "Companies are very nervous about this," said Jim Schultz, a vice president of the institute. He said the price of carbon credits under the European Union's cap-and-trade system have climbed so high that European steelmakers are considering moving more production to countries such as Brazil, which doesn't have carbon-dioxide controls.

The Senate panel also is looking at systems being developed by Canada and Japan, both of which must comply with the Kyoto Protocol. That agreement among 38 industrial nations, not including the U.S., to reduce greenhouse-gas emissions went into force in February 2005, after Russia ratified it. The treaty requires most industrial nations to reduce emissions by an average of 5.2% below 1990 levels by 2012.

It isn't clear how the plans submitted to the Senate energy panel will compare with Kyoto's goals in reducing emissions. The blueprints U.S. lawmakers are considering focus more on the nuts-and-bolts of how the systems would work, rather than their precise effects in lowering greenhouse gases.

Japan will rely on voluntary emissions reductions at home and major government purchases of carbon credits from abroad to help Japanese companies meet their Kyoto targets.

Canada's system would cover about 10,000 plants in major industries, but, unlike Europe's, it has a "safety valve" that would allow the government to freeze the price of carbon-dioxide credits if market trading drives prices too high.

Some environmental groups argue the safety-valve approach will weaken mandatory controls. Jason Grumet, executive director of the bipartisan National Commission on Energy Policy, counters that it could be key to U.S. passage.

"With a safety valve you can go into a politician's office and assure him or her that the price will go no higher than X amount," said Mr. Grumet. Getting the U.S. to launch a program, he said, may be crucial to getting other big world emitters, such as China and India, to brave the political pain of mandatory controls. "You can't let the perfect become the enemy of the good."

Write to John J. Fialka at john.fialka@wsj.com
ANSWERS TO ARTICLE ANALYSIS QUESTIONS
Refer to chapter 18 in Colander’s Economics and Microeconomics for help when answering these questions.
Refer to chapter 30 in McConnell’s Economics and chapter 17 in Microeconomics for help when answering these questions.

1. Trades that negatively affect third parties not involved in the trade have what are called negative externalities.  Negative externalities to production mean that the marginal social cost of production is higher than the marginal private cost of production. The externality is a cost of production not taken into account by the producer. Graphically, this is shown below as an MSC (marginal social cost) curve above the MPC (marginal private cost) curve. The market equilibrium will be P0 and Q0. At this quantity, however, the marginal social cost of production is greater than the marginal social benefit. Too much of the good is being produced. The price and quantity that match the marginal social cost of production to the marginal social benefit (represented by the demand curve) are P1 and Q1 respectively.

2. 
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    Return to article.
2.
With a voluntary approach, companies and individuals voluntarily commit themselves to change their behavior in a way that reduces the externality. This solution is not likely to be efficient because those companies and individuals with the moral conscience to reduce production might not be the ones that face the lowest cost of reducing production.  Another problem with a voluntary solution is that people are generally willing to engage in an activity for the good of society only as long as they see others taking their part as well.  But, because individuals face a cost of reducing carbon-dioxide emissions, they will have an incentive to cheat and not reduce carbon-dioxide emissions. Free-riders (as these people are called) lessen the resolve of others to continue to reduce emissions voluntarily. Return to article.
3. To the extent that Wal-Mart can attract a sufficiently greater number of customers by advertising that it is “green” it will adopt green policies. It has an incentive to be on the forefront of being “green” for brand loyalty as well as the possibility that regulators will follow the programs that Wal-Mart institutes, which likely reduce emissions in a way that is lowest-cost for Wal-Mart, but perhaps not lowest-cost for other firms.  It has an incentive to lobby Congress to regulate the entire industry to place its competitors on an equal playing field. Not only will the playing field be equal, but Wal-Mart will have been the leader in the green-revolution.   Return to the article.
4. Cap and trade means that each producer is given a certain level of carbon-dioxide pollution it can emit. If it emits more than that amount, it must purchase pollution permits from companies that emit less than their allotted amount. By adding a market component to emissions reduction, companies who face a lower cost of reducing emissions can engage in greater reductions. Companies will reduce emissions below their quota if the marginal benefit of doing so (the price of the pollution permit) is greater than the marginal cost of reducing emissions. This raises the efficiency of emissions reductions programs.  Return to article.
5.  The per unit tax that is necessary to reduce production and consumption to a level that equalizes marginal social cost with marginal social benefit (and is therefore efficient) is equal to the amount of the externality per unit. This tax is shown by t in the graph below. As you can see, the tax, t, reduces consumption to Q1 and raises the price to P1, which are the efficient quantity and price.
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  Return to article.
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